Previous Year Paper
MPTET 15 Mar 2022 /Shift 1




7127122, 3:30 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

ProFGSSIOnol

MPPEB 2022
@ examination TET-Reports
board
VIC\{QE;[;_I%C;?Ci Ttems/ View Report View QP View Candidate Responce Print Objection View Candidate Question Moderator ‘?_%%e:;';'g
Print
Testdate 15 Mar 2022 v
TestSlot
Submit

Passage:

Tora:— HefIRAd eIt ufdan T i erare ae: Iaqary 3w fuwr foradl

YRARp AT I SAgRIgd adid AU AETHRAS | AFTSIaTRI SHF R0 Tl T~ Ted W Ida| Saoddaraly ufaurea-al 9=1 4ad: e
TRIYRAS | Gd@Te-d! AideHiad 9 Hold YR HeTRa]

TRIHRY SEeRIaaiion a1 snfeud, qudd, a-ud, faRreud, Ievd, isaud, Siud, Suiud, Seaud, SgfReud, Wiud, i<d, SRd, smfieud,
ORIAUd, FETIRITYG, WRIgUId gaai yaf asi T Udd gaifor sieam: faved 91 o Saiafiid: $uT: SRE= | HUT: JURSH: Jod QRI i |
YD Uy SUUaiiorn 9 f~r | TeYRT ga yain fausifdar: st 7 gay ada | ufaadion Juddsrt add | eeaiaRmEud, srugaadd, deemiad 9
YA 339 SHART: U1 14732 XaleE: T 9l

Q.No: 1 YRATHEPAAFID ..o Tl AT ARTHRGS |
A RIUEIH|

B gfoRragaT|

C IufsEaH|

D Errut(l

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:
Taa:— e TeRt ufemn uym s eras ava: Ifaqary S fawar foraal

URAIRRP aargad 3faegd acd AR FETHRAS | AFdeiad THRHAN0 Tadt: TR[AT: Tgq R Jad | Hacamderare Hadred-dl I=i 4ad: I
TRIYRAS | FBISd AIdeiad ° Hofld SRt TgryRa|

TRTHRA SIFTeRIuair Al snfeud, udd, aud, favreud, e, isqud, Siomd, Hoid, Weud, Qyfleud, wiud, Mad, SHRmeATd, spfiead,
Aaud, AETIRIMYd, WAIRIGUId 3ddi Yafy auf T Udd uaiior sear: fauadii= af=y1 oFf sariiaiRid: ST RW= | BT IURAM: J8d R TSt |
S Yy IUYAiior 9 Hiwl| HEIHRAW GaNT gaion [GraRiidaR: sifderiard 9 gay add | Mf~gdion Iuud add | ISemHRIeHayd, Ssardad, deemiagd 9|
I9A0T 339 AT TUT 14732 AP 9 G|

Q.No: 2 HgIHRY Hid yaffor af<r?

A T
B R
C SEEN
D [CRUGH]

Correct Ans : C

Page - 1

Subject : Sanskrit Bhasha 02
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Passage:

Y- el TRt ufe@n e b edremav: Sfudaay s fuwdr fradl

YRS daTg o 3fiered dedd IH™U TRTHRAS | AFaeiaT SHRHRT Tl TRE: e R aod | Sacaidaeialy iaugai I=1 Yad: 9wt
TEIYRAS | Fd@TeTdl SIdoiad @ Hold SRR JeriRa|

TRIVRA SFTERIIair uf| sifeud, JuIad, gud, favreud, Sevmad, «ierud, giod, Hofud, Jeaud, diyftasud, wiod, snfud, srRmeod, sidfieud,
TaUd, ARTIRIMYG, RIgUTd 3ai Hafy asi T~ | U@ yaiiorn sreamd: favea= afy | o sariicaf: SuT: RE= | SUT: JURAM: 98d R TS i |
TS Yy IUUGIl T Fiw | HETHRA FAYT gaiun [An=ifaaR: sifder@rd 7 gaH add | iydion Udad add | ASURgRIeHYId, susHYad, Heemaud =)
MTUAior 339 AT qYT 14732 TAlD!: I Il

Q.No: 3 HEIHRADY: Pd: RTA?

A o td: |
B fiefiafe:|
C qrugdaf:|
D AR |

Correct Ans : D

Subject : Sanskrit Bhasha 02

Passage:

Hepa:— SfelifRad TRl Ufodn Uy A edrete e d: STadaay S i@l foed|

YRAIRGAaTg % $IgRIgd Tk IR0 TIHRTS | Adona- e SHR AR Uadl: TR Hed R ddd | Sdabdead Tiaureami I=1T Had: J9rot
TRIYRAS | AaSTAdl Adoiadt @ Hold SRgFRItd HerHRaq |

TRTHRA STSTeRMTaior gl snfeud, qurdd, gad, favrend, Semud, fiwrad, ord, wuid, weaud, dyftasud, wivd, e, srumeud, semftieud,
HIGeud, AT, TRIGUYd 3O Hafwl dui A1 Uiy Gaffor sred: faveriy af<i| o rildiic: HYk SR | Bl SURSAH: Hed G =i
TS Yay IUYGIl T Fiy | HEIHRAR GasT gaion fanifaar: sifdem@rd 7 gau add | ¢ uudad add | IoemigRIe-gud, seHad, Hemiaud 31
MG 339 AT qUT 14732 XWADL: T Wi |

Q.No: 4 =fudfor i sreamar: wf<?

A 339
B 402
C 14732
D 732

Correct Ans : A
Subject : Sanskrit Bhasha 02

Passage:

Hapa:— SieifaRad TRl ufdan Uy [apearetsNeg: Sfaaay 3w R el

URNRH AaTg o 3G Teid A0 TRIHRTT | AFaoNa-_] AR AR Taal: T~ g R ddd | Sdandderand gfureami I=it Had: et
TR | ATl FIdoHiadi 9 Hold ARgFRId AgTHRaq|

TRIYRA SHSTERIYATT FfwT| 3ud, THIOd, 3ud, faxtend, Jeiud, ofieaud, giomd, sofud, wreadd, Ayfsad, wiud, [f~dd, srRma-ad, smitead,
Taud, AeTRIMTd, TRIGUTd SIAIH Haf< oauf A1 U uaiiorn sted: fvean afd| 7 saRidid: ST SRE<| HUT: IURAM: Fod QRI s i |
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TAS TdY IUUGiior = Ai~i| TEIHRTS Jaut gafor fansifear: sifdsmarnd 7 gay add | nf<roditn 3uadsd add| TeremiRma-gud, smugagad, Meemogd )

MU 339 ST TUT 14732 TS 9 Al

Q.No: 5 f& oy Fraefafar

A
B
C
D

wiud|
MR
Pulad|
g

Correct Ans : D

Subject : Sanskrit Bhasha 02

Passage:

Y- reffRad Tenst ufewn i e aea: Sfudaay g far el

URATRRGIATg o 3figRIgd ddd MM TTHRAS | AHdiaAd SHRHRT0 Tl TR Tgd R add | Sacarbaeraly fauredmi I=1 Had: IIHRof

TRIYRA | Ydebleidl Aida-iad T Held SgRId HeryRay |

TETYRY SETERTGiior a1 snfeud, wuiad, aud, favreud, Seiud, iwrud, Siud, wofud, reud, Syfasud, wiod, wnfud, srRmeaud, safeud,
Ted, TRIIRIFYY, TR Sadi HafwT auf A1 e qaiiorn send: fayedi 9w & ariaii: Ul SRE | ST JUreT: Yed TR i |
TS Yoy IUUGIHl T Ji=y | HeTHRA Sayt gaton fan=ifaar: sfaemrard 7 ga add | 2nfuditn Suudrt add | IoemiRmengud, susHIud, feyHoud 9

MU 339 L TUT 14732 Taldn: 9 Wi

Q.No: 6 g Vel &7 faufda:?

A
B
C
D

ESEl
e
g
Tt

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Y- SreNfarlad eIt ufdw@n vt fisedes aa: Shaary Sw fawr fraal

YRR a5 % SIgNIgd Jeid A0 HIHRAH | AMaona-e THRHRT Tadl: TR Hed ©IF add | Soaddean Tiqured-a I=1T Had: J9rot

TRTHURAS | ATl AIGoTiad 7 ok SIgRR HgIyRay |

TRIYRA HPTERIYATT Fiw| SiGud, THIId, 3ud, faxteud, Jeiud, ieaud, Siomd, Hoftd, Jedd, Ayfieud, wiud, Qi-idd, SR, sakead,
HRIaUd, AR, WRIguad saan yaf<y aut Fmfa| udd uaifor eremd: fyve™ i< o saiidice: SuT: SRR BT JURSH: Jod T T3 |
TG T4y IUUAii 9 Wi | TRIWRAR GhsT yaior fau=ifaar: sifasmard 7 gay add | i<mdin Sudeasd add | s Rmbgd, srugaud, dieemoud 91

f=IUEior 339 AT duT 14732 Tolld!: T Iid|

Q.No: 7 R TR - 3 Ugwsa: HUH?

A
B
C

D

R + T
RIT + B
R+ T
R: + B

Correct Ans : C
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Subject : Sanskrit Bhasha 02

Passage:

Topa:— Srefifoiae e ufeer vt e s areg: Ifdaaqd SR o foradl

YRS AdTg o 3faerigd ddd IMR HEIHRAF | AHasaTd THRARD Taar: TREr: Agd RIF add | Sdabdotars gfaurea= I=i1 yad: JA™)

TR | FABTRId IoH-Iadt 9 Hold SRR AgTHRAH|

TRIVR SHPTERIIaior i | 3feud, JUIId, Iud, faRteud, emd, fiqud, Siomd, Hoid, Jeaud, Syfcidud, wiud, Jfwidd, SrRRHad, siyaftieud,
Haud, AemRIETd, TWREUNd 33 Yaf ol a1 udd gaiftn sremd: Ry of| 7 aRidiig: ST RE<| HUT: IURSAM: Fod TR Tai=|
TS UGy IUUaiio] 9 Fiwi| FRTHRAR qayi gaion farsifoaR: sfiemar 7 gau add | ddiT IU9dad dad | ISmiRme-agd, STaeHiaud, Mefemaad 91

i for 339 SredmET: qUT 14732 T T A

Q.No: 8 yfaurea= - 3F &: U:?

A T
B %1
C )
D =l

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

G- Srelifaiiad Uit ufdan Uyt Adearars aved: IRaadd S R firad|

T Yeifa e fed g
B4 MY AT e |
et T faaeta 9 ey Pifd
f& fo 7 el Seueraa fae=m 11

Q.No: 9 & FHeqadr 3d Hafd ?

A Eeic
B o
c et
D fa=m

Correct Ans : D

Subject : Sanskrit Bhasha 02

Passage:

Hapa:— eiifafad gl ufdar gyt fasararsoreg: Ifudans I o fagal

TTaa efa fiaa fed Fggad
P9 MY HTATAT TeH |
et Jfa faaefa @ fegg S
& T =1 Trerfa Sedacd 3= 11
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Q.No: 10 HAd &1 e&fd ?

A ECil
B &:
c fe=n
D i)

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

Yobat:— Srelifaiad ueii=i ufda@n uymi faderaerreg: Ifaaay I fawr el

TTaa &t fiaa fed Fgga
Fld 1Y AU G |
A&t FAfa faaefa @ feg Fifd
1% fob =1 Terfa Sedadd = 1

Q.No: 11 W< HYH 3U-fd ?

A PG
B G|
C g
D g

Correct Ans : A
Subject : Sanskrit Bhasha 02

Passage:

Toha:— eNfad ezt ufean vt faserere aa: Sfuaaad 3 o foraal

A1ad & faa fed g
FIIG MY TG BH |
et ahfa e = fag i
% f& 71 Tl Sedeaa fawn 1

Q.No: 12 & g4 far fed Fgad 2

A i
B e
C EILSE
D g

Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:
Hopa:— SrelifaiRad IRl ufdan Uyt fAedearars avsd: IRaadq S RIdr firad |
Traq veifd faa fed Fgge
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PG MY IATITAT BT |
qelt T faafa = faey T
& o 71 wrerafay weueraa fa=m 11

Q.No: 13 #g - FfRfaw< $2 |

A HG+Td
B A+
C AA+Ta
D oA+ T

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Fobek— SANIREd TRt ufean Uyt A eqrare ved: Sudary I i forad|

T & e fed Fgga
P 91U HTAGT WeH |
igHl aiar faata =1 faed BT
feb fob =1 Terafal peueiad famm 11

Q.No: 14 IHA(- 3/ UIg: &:?

A RL
B M
c H
D J

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Yopa:— srelifariad Uerit ufdan wamt eearars e Ifaaaq 3w fuar firad|

T jefa fRa iR Fraggw
PIad MY THTIGAT W |
A T fada o fogg Fifd
% o 7 el Sedera faem 11

Q.No: 15 a2 &i a-ifa?

A et
B Tt
C Piferpt
D g

Correct Ans : A
Subject : Sanskrit Bhasha 02
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Q.No: 16 Tu®: faee --- Frfesfar s Raawm™ vy seaaud fea

A T
B gfe:
C o
D P

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 17 WYYy H4I: qufdl: ghi: HdT add?
A SHHR-FHRAN:

B UHR-FHRA:
c TPHR-UIBRAN:
D IPR-AHRAL:

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 18 TufeirEr 9ok offid

A q
B X
C q
D q

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 19 3§ I ---I' 3 e wfd foramg fee
A qqH

B 9
C dag
D qcMH

Correct Ans : A

Subject : Sanskrit Bhasha 02

Q.No: 20 "ora:' 3fd e FHRIG: YPIaUaiayRT: &:?
A fA+em+am+us

B fa+ef+amq+9
C fa+em+aq+e
D fa+ 3T+ T+ 319

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 21 -4/l ACABR WAHAYSHHaT [ -

A R

B Tafd
C Afdf
D T

Correct Ans : B
Subject : Sanskrit Bhasha 02
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Q.No: 22 9@ 3fa uew Sisd:?

A
B
C
D

e
I
=
a:

Correct Ans : A

Subject : Sanskrit Bhasha 02

Q.No: 23 TRiaieh: P MG HREHIR Fai<=d Taxl Bl | §: RATHE HRI o8 T: HAfd ?

A
B
Cc
D

Yo T
T WY
TS AT
TARE

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 24 fiF-RE-fRamaia: T=eT: 99 SramT iR $fd | afg -

A
B
C
D

gt wf

R s mifaar:
YOS AR
fRufa-wimaet: Gfxr

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 25 Henfy=adidr a7 uigear yafd, 1 add -

A
B
C
D

SRAPT: ATCHUTATON ST Fdf
Rreres: Furan: UATTER St S
V&R Aleww TRyt gafar B

TY TSI 7 i

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 26 SfefifeRaay b S W Sitwgy siftid Tgrd Ydd ?

A
B
C
D

T3 URWR T S araiaId 4quR |

S SRS IIFT a G: T SN Sy arerd: FeRe |
3: FTCt: I BT |

T qraTaRYl T 3ifld uig ST sigafa: | <R |

Correct Ans : C

Subject : Sanskrit Bhasha 02

Q.No: 27 YIS HaRIHH?

A

B
C
D

TIGHINT FFTEHTRI A faeniiy
FUSTAGHR TUT STAFUSHT TAT:

APRURT RIS RITTIRT: TUTIHT HUSRIHRON

HARTHISTAT: FUTSAITHINTT: SaTHsha AFaHRT e sra-are fAfszfa
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Correct Ans : D

Subject : Sanskrit Bhasha 02

Q.No: 28 HRUBISYSNREHl-SalerTifHEaRaH T ?
A - TRy FrrgEr TR e

B ey yTERRY SEeR:

C Ffévasmiiea vomeds $riq

D S~ HTTRREARC ey

Correct Ans : C

Subject : Sanskrit Bhasha 02

Q.No: 29 'IJUARTHS RV T SUUR: MR

A FET, ettt gh: g aheur |

B "B Ty sy sramuf:, SRl gliwd & Suran: gerf Fwoftar: v |
C faemeRiRI= Rigromaieqd |

D VSO YaeHRiT sifaiaafienmd |

Correct Ans : B

Subject : Sanskrit Bhasha 02

Q.No: 30 FHemi HHFardraRu-Hnef fRe:
A T TEYfaTBeT BEF SEwR G

B st TSI T At
c U TR I v iR
D T B Fd GHH T4 RITTA]

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 31 TG BT BT G I ©-

A quif &l forgmT
ELERIEA AR CEI]
B
I B ferger
C
3 IR Y eiftyaafad
D

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 32 41 & Yad g TP Helich BT I §

A YIS T BT ST BT

B ot Teif & v & MR T Fifed ¥ & WaRT 3 SRIar T MHaT BT
oIt Bt SigRiivf 1 e

o

D A M BT SMHTT PIAT

Correct Ans : B

Subject : Hindi Bhasha 01
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Q.No: 33 = yTw & Ul I I T T8 I ©-

A I ¥R F o6l & g

B TRt B & g

C TS WR & BE @ g
D Tt & o +ft 78T

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 34 I= Wi wR W Hidar Rawr &1 gl 8-

A S

B TR

C e

D HAEGYT JOIedt

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 35 FIRRI Ugd YHY 3Md SR fehdl ¢ 34 U H $ie-1 gidl 81 SYB! o TOIE: .......... J w=fa g
A Uo-3R

B gfe-afy

C oo

D feanfear

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 36 = # ¥ ITaRIES e & T w1 sawas & 82

A g e Titemr SR T

B Rregor Ry 3t wE @

c faemdf &t et ot Tt 3 SR T BTl

D g e Tfter s Td faemdf @t fedt oft ot @5t iR T wem

Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 37 4= & ¥ ey fparsii qur ST} F 31T FT UIGUISHI Bed ©, TISTSHT B TRHET & 82

A SRE],
B [5ed
C faforawg TR
D ST

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 38 3 ey Hisd so1s drorn & Fiet & 9§ 5 W sifére aa faan s g2
A e argforar ®

B 16T THH W
o TRif&repT SrpH W
D BE AP R

Correct Ans : D
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Subject : Hindi Bhasha 01

Q.No: 39 = & & Qeifdres Fem & e ¥ T S g2
A favaasg © gwiRa SieEal &1 udl T

B Tvrrasg & gwfRa saeiial 1 et @
c fawgasg § FriAa HiSgal Td HHeNRG! BT ual T
D B P FHGR AT

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 40 TH U e F TT H Tad It A DH-U 82

A T P U D! GOR eFl & THE I Tad G

B = Bt U GRER & ded & uRRE SR

C Tg-HIT F&m & Rieor & R Sfua orifoal @ Her
D UTST ST BT S7HE §

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 41 59 faen & e & T 39 149 U $I 78d 7?2

A Ay

B Leacdl

C HaGHD Bl
D B

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 42 RufifEd § ¥ wawe fRew &) {3y 78 82

A et aiftg fafdy
B el Ty fafdy

c =Rt fafy

D e fafy

Correct Ans : C

Subject : Hindi Bhasha 01

Q-No: 43 Iien 3 faftys uRemrelf & efuR R g # ¥ SH-T1 By 3/ 8?2

A i FaH §1

B U ey 31
c W1 3T BT I B
D e aER & T 3

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 44 72 91dl B WSl HA1, Th UHR H G IR $1 T8 SH-31 gHIa=el [y g2

A T FRP FRa

B Frlteron oxe dam

C T B SRaT

D e fafdl g e
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Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

FEw: SN 1 Ugdx g U URAl & 99 3Md IaR i [dbed &1 997 Pifoe-

I 3 31§ 99 $o, 7 o O $© o O
o1 A AR &l §, gl A Sfie &t ©

1139 e 1 g 9 31, eRell W 2t [l B
3RY 31 2f fea & o H, &0 91 T8 1 O
UYeRT Y werd! gueR H, I Wer & ¥ B
QI W T & 8, T BI AY Ball B AR
At aEslt & siaq 9, 39 af o SiF Rl
S $fUg &, I UeIY, St 9u §, S $I arult &
S e €, 99 gen, W gt &1 urh §)

B9 BETd & dlU SR, -1 I9Tal ST U |

Q.No: 45 fmfaed § ¥ ufie’ weg &1 3 @1 82

A IER, T IA qrel
B ERE]
C Rt
[REXN
D

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

FER: S I UgP Y@ U U=Hl & Gad 3d @R ald ey &1 9g Hifoid-

I 9 a1 99 $o, 79 o O $© 3 W
TR B - &l 8, Tl Tl Sife ot g 1

1@ e 31 5% T9 Y, Rl TR it Tt 7
3RY @1 27 foa §) oH, &0 91 $© X1 O
Ut T wierl gUeR H, U8 Tel < § Bl
QI W T <d §, T I AL Bl B AR
arit asell & Siaq ¥, 39 ff @ po S R
Sl 3 Ug 8, 98 UeIY, Sl gU §, S ®1 amft &l
S e €, 99 Se, W gt %1 urh §)

B9 NE-d & Y SR, 7141 Il Sl A |

Q.No: 46 IWfF TR & He # oug safoadl & Ui §HRT 1 Sl o2
A % U1

B I Rt
c I TeTY, I% Rfdr ¥
D I U M B Al TaAT

Correct Ans : C
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Subject : Hindi Bhasha 01

Passage:

e e # Uge’ UY T U $ a9 IRIT IR A et o1 T FIRe-
X g 31§ 99 $o, 7 o O $© & 9

TS g 9 & 8, ga 7 Sied &t 3

1 e 1 g I9 @, 4Rt R g |t B

3IRY 1 ot fed €1 Fored, &v Tl po el U

UfIT < Serell gUeR #, U Wl 34 § Bl

GY R F & §, T P T Gl S AR

arft ax=ell & Sl 4, g9 W @ oo S R

Sl 3Ug §, 9% UeI, S qU €, S BI At I

Sit et 8, 39 wert, Wit gl &1 url <)

B Hgd & dIY ST, 741 ISTal DRl Hikd |

Q.No: 47 iRt =1l Bl e 3R FHA W B B e & I 77 o 72

A T agail B T AT 3R T & ol
B 58 &1 e v

C TRER WS a1 /e 7 &1

D JRTST THIHR ST g1 ST

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

R T $ UgHR I T U F qe IR Sa 9 fahed o1 797 SIRe-
X Y a1 § 99 $o, 9 ff O $© 3 O

TSl g A9 & 8, gar 7 Sied & R

1@ fier &1 g 99 &1, eRadl W G Sl B

3R &1 oft 3 2 o, 50 T T vl |

UYeT Y STadl gue” §, U8 Fer 3d & ol

Gg R F A §, T B! T Gal S AR

AR el & silgd b, 39 Wi df o SiFr Rd 11

S ofUG €, I UeIY, S 99 T, I B ar &

Sil gl &, S8 ey, Wl gl &1 url &)

BH HgHd & 4l S, =41 Iollal ST Uik |

Q.No: 48 Iuad weiw & e & e wfdadl & vl garr 1 sl 87
A I g | HieH B S

B ST T o
C 38 oMl g § Hag T A
D I 3l 51 § Heg B

Correct Ans : D
Subject : Hindi Bhasha 01
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Passage:

& DT BT UgdhR G T URAT & Fa9 SFd Iak I faded &l 99 Sifo-
X g a1 § 99 99, 9 o O o9 3 W

Rl g AL &l €, gl 7T Sfie Al €1

13g e &1 g8 9d 31, eRal R gt |l 71

IR 1 oft foa & o, &0 T oo o

RIS} B Serdl gueR #, U Fer 3a § Bl

TG R T &I T, T B TG B A

arft el & Sl 9, g9 1 @ g S R

S 3fFUG &, 3% UGN, S gU §, S ®I a3

S e §, 99 SgNY, W gt 31 arh §)

TH AT & U ST, a1 IoTdl o3l Wi |

Q.No: 49 F=faRad & ¥ Yhdara® aad H1 9a9 Hifere-

A TR S AT-frar S & 9 a9
B UM g it S g

o TERRT Xog B AU U
D afe; afesm FR T THd BRIl

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

R FTAT B UgHR U T YA & Fa9 Sd IR A [Adhed BT 997 BT
% g 31 § 99 99, 7 o O o9 3 W

TR B - &l §, Bl a1 Sfie adl gl

1@ e #1 g1 I9 B, oRell R S el g

ARY 1 oft fod &) o, &1 T o@ ool G

eI B STadl gueR §, U8 Fer 3d § oIl

G R F & §, T P T HE S AR

it el & Siia b, g6 Wi df $o wit R

S ofug ¥, I UeI, S 99 §, I 1 A I

Sl st 8, 9 wert, wrfl g &l urfl &)

TY HETd & <Y ST, a1 IoTel ST Wik |

Q.No: 50 FmfifEa & | 9 S A1 Rd 87 F T U Teg &1 79 PivTe-
A R

B frpm
c forrera
D forfm

Correct Ans : B

Subject : Hindi Bhasha 01

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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Passage:

& B H Ugd IR 7T UL & Ja IR Ik a1 fdhed o1 T4 Bifve-
3 8 31 ¢ 9 $9, 79 I @ o & W

Rl B4 2T &l §, gl 7 Sita &t g

1 e 1 5% T @Y, eRedl R gl Jeht B

IR o1 27 fea &1 o d, &0 91 $© X1 O

UfYeT &Y Siadl gueR A, U8 Ter 3d & o

G R B A S, T B A Bl S AR

AR a&ell & silg 9, 89 I df 3 SiFr Rid 1

S oMU €, I UgIL, S gu §, S @1 arft €

& Rieer 8, 99 ag1t, Wil gt 1 oed 2

B Hgd & dlY ST, =41 IolTel DAl Wik |

Q.No: 51 Fmfifad & § fra wes &1 v Swiad vkl § et faman mr 82

A CiGE]
B KEIc)
C i

D R

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

= - 3T TU T 3 tedR IR U UK & 9Ed 3id SaR a1d [dwed S 999 Pifore-

TR 98 TcT F 30T AR STt & 78T T Jnferdl W TN 3R AT FHRa SR 9 Ugd 21 8T Bial {5 AR} Tard T Hh [T 8 ol IRE BT IS HIT
B S SR g9 ua 3t R At ot ) et meft-pdt e Ut Hara R o & I & SR Bl Y& i 8 S| AreR Wied IaRit SO @ SRt iR @9 @
3R ied A Teliw 3R 7RY BT & 91 TR | FRY 3R el 7 Had S Jara T B B [T Ra, e ITF Rig afSia o T 811

I 59 St foran W o SR, T, Tl SR AR A1 €, TR STR BT Bt et Wi € grerd meun SR 3l Y g # oft SRl $7 de% UoR-Rra
T 9gd a1 g B1 TR 3R HIE Sie-8Ud & Ui & 8 & SRU 99 R e R 6T SF J ANl $I ToR | ggax A1 HAI Ad| RN FaRT ST R 4 &g o
T T 3FEN H TR B [ =iy At g T iR et Bt gesdl R sieR & W & qufe 3 afkrse # Ife gk g9k Fied |, W T
At & 3F® [ Sfas & quie | a8 STt Fod=T | SUA- 310! Al &1 &g $dl, FideR WSt UgH, B! a6l W SR a9 g1 IR UgH, dadr fog 91 &
ST HIS R WUE Sl Tl oIl Sl

2R & O T IR O A1 e o Wd 9w o1 R RN #1379 Agayef geArs 3 aiid ok T 91 9 Y84 3 i RN F Fiede Ui foE 3§
TR SR 1 T Big VI 7 AT1 IR I8 T gl b Sfoer &t ooy & off RS &1 et e a1 39S 1 YHK o 1 90 A M1l

e AHA SUAT A1 YHRI SIdl G Dl IREH Bl HedD 16 39D Bic-9 gad H 3N F 3fdld &b 9151 & A1d gadb Rigapdt 38 Sl | for | 3iig & aRex
TIEd H1 UTd: Fgd T o giar § aRal @1 IR S0 8 TR S arad o 3t il &7 §iaT 8, S IR+ SigHT AW fofeT B8 91 8, TR & Rigad ged &
T 3R die ugdn Il

Q-No: 52 TR 1 ¥f< oy fawg 7 of »

A T
B fagm
c sfoer
D EuS

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

= R AU T RN ST UgdR U U URAl & 9ad 3d &R ald [ddbed o1 99 Pifor-

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 15/55
Page - 15



RSN T8 ToT I ST ARIS HIA | 7T Tl SR TR IO 3R AT H¥d IR 9 Ugd ol g1 oial [ S-an! Tard G S @Sl g1 Sl | IREN B I8 4T
B S SR 219 oa 3t R At o B It it T U AT R Ia & I & RO Bl Y& i 3 S| AreR Wigd aRit S O SR iR @9 @
3R ied O Teliw 3R 7RY &1 & 91 AR FRY 3R Wi 7 Had HH Jara [ HA B KT Ra, e ITF Rig afSra o T 811

T o/ Haft forn S o AR, WA, el SR 1R 1 &, TRe S=R &1 vt Y| Uft € g anmen iR sl @t g # off il $o as® uen-foras
T 9gd a1 g B1 TR 3R FIE Sie-8Ud & Ui & 89 & RO 99 R We R fGU oIF F ANl $I -ToR & ggax A1 HHI Ad| RSN R ST R 4 &g
T | 3iEN H TR &1 [OR =i ot I G o Rt ot gesdl ok sideR & W & qul 3 afkrse § It giaR 99w Fied |, a9 g
Rrarh & 3F® [6d Siiad & quie | a8 /It Hod=T | SUA- 3101 Al & @i $dl, FideR WSt UgH, B! ale! W SR a9 g1 IR UgH, dadr fog ¥ &
ST HIS R WUC I3l Tl oIl Sl

3R & O T FR O A1 Sfaer o Wd 9| o R RN #1377 Agayel geArs 3 aii ofR T 91 9 Y8d 3 i RN F FHlede g foE
ARG TR 1 T DIg, I 7 ATl GO I8 T giar 6 3fder &t oo # off TRer & xnarh firem a1 39 A ek S &1 997 7 Sl

Tad A S{UAT A1 YHRI Sl A Dl IREH Bl HedD 16 ST Bic-9 gad H 38N F 3fdld &b 9151 & A1d P Rigapdt 38 Sl o/ | 3l & aRex
TEd H1 UT: Fgd g1 o g & ardl @1 IR 910 § R Sha- arad & 38t il &7 §iaT ©, i IR+t oo AW fofeT 818 91 8, TR & Rigad ged &
& 3R die ugan &l

Q.No: 53 TRe &I Agahien f -

A WUe e Bt

B ABIR TS e B

C TEP YA ST AT BN T B
D & A Gl free @t

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

&= i AU 7 TN BT UgdR U U URAl & Hed Id &R al [dbed BT 997 Hifoe-

RGN §3 e 30T AR Hid} H 7T a1 SR R 0N iR AN SR SR q% Ugd gl 38T gial [P AR ald U HR WS 81 Al RGN BT ST HIT
B STl 3R Q- Ta @t &R At 2 B ot wfi-aeht ved U AT IR o B Sas & HRUl Fgl 4 Hf 8 S| Ty Aed QRN &d O SaRT SR T 3
IR Sled o Wew IR TR 7 € A AHR | TR R FAw 7 Faq HHt Jard -1 A ot a1 Hd, e 39 g afera «ff 7 811

AW 5§ St R Srar o SaR, T, TRiE iR TR 31 8, TR daR & Sl e R & g et o sl 3 qam § o Bt 55 asd ugiR-forarg
T 9gd o1 g @I TR 3R B1S Sie-8ud & Uid A 81 & SRUI 99 IR We R U oH A AN $I -ToR | Gg@x A AT Ad| RSN §aRT G (R 4 &g §
I8 S| 3fe W R 31 fasiy Ty At IR T SR Rt @ ggrzal SR e & WA & JuH IUP AR B T SR T9HR Pled 384, a9 o
gt & sF@ f&a Sl & qu ot | 98 STt Heael B S(OH-3MIS] Al @ R S, AHaR Tel Ue, BIel agl 79 3R 991 g1 I U, TadR g 391 &
3T U TR WRUC Grodl Ial odl Sedll

SAeT &1 I TFRY T O a1 Sfae ¥ W8 I11 o IR I RN &1 371 Agayul ge-Tsll &1 aRid SIR O 916 -1 38d 3 Fiih RGN & Bled-dh UgINi [l o
TG!SR T T g RIF 7 AT URUIE g8 T i &6 3fie 31 3a & ot ReM & WErh firem a1 39 919 YHR o &1 969 7 Sl

T A ST A GHRT ST G Dl TRaN S Teadiel 395 Dle-3 gad U 3fieg™ & ofdld & 9 & Y oo Rgad! 38 9t o R sfoge & areR
TGS BT UT: Fga T [ gl & TRal ST IR 91 § TR Sid- arad | St @il &1 giaT 8, S IR+t SioT W RfeT 318 91 8, TR & Riked ged &
T 3R die g &l

Q.No: 54 g i+ araT sg T -

A Sffgeira
B gt
C fgelis
D Sifgea

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

T - U U T @Y UgaR UE U WA & ged SR Sk a1 fadmed &1 99 difore-

RGN 93 I § 3o ARass Hid) & 7T San el R Ion SR AN $4 SR d% Ugd ol 6T Sl [P AR ald G R W1 8l Wil | RGN BT S48 1T
B S SR -9 ga 31 R At o ) et -t a9 Ul AT R Ja B IAeH & RO Bl 4@ Hi 8 Sl | AR ied ER &4 df SR SR @91 B
IR gfed df welits 3R 1% &1 & 1 da)| 7o SR Walw 7 Faa St gara G $3 3 fHiar s, afew 39 R afsra o 7 841
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T o i fora S o AR, @A, Tl SR HeW BT &Y, RS R b1 put 7L Wt €1 grea e @i el ) qaw # off €kl oo ds% ugs-Rar
T 95d A1 B D1 TR SR P Sie-3ud & Ui e 89 & SRU 99 R WS R T I F Al I AoR H IgdH A AT Ad | RSN S9RT ST R I o J
I el 3R B TReN & Oy Wi 4t IRemg G ok Raaeh &1 9eEal iR Si@eR & N & auiH 39 ARass | Ui gIax 999 Hled Igd, a9 ol
el & oM el S & auF +f| T8 ST Hed B SH-3Mu! R 3 e S, TPaR el U, B ag) @ 3R 991 § IR UgH, T0aR g 31 &
ST IS R IWUC SIsdl Il oIdl &l

e & I TR IR O a1 3fae H g 991 o R R B 31 dgayut gesll @ IR SIR T 91E 7 84 ¥ P RN F Frede UagiRe el J
ARG SR 1 T DIy VI 7 ATl GROTH Ig T giem [ 3fier &1 7o § off TR & i firem a1 3% A1 HR SF $1 99 7 Sl

b A ST AT GHRT S o Bl TR BT Aeeddie I9P Dle- gad H g & Sfdid & i & -2 oo Rasd! 38 9l o/ R 3fig™ & ArRe?
TIEd BT UT: Hgd g1 & giar & aral a1 ARd SId 8 TR Siia arad B I8 @l &1 giar 8, S IReeR Wi 3o A Rier 318 91 8, TRe™ & Riged ged &1
& SR die ugan <l

Q.No: 55 "Higr" &1 qufuar Uk A © -

A &
B ¥
o Tyg
D T

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

f&w: - fou U T @Y UgaR B U WA & 9ed S Sk a1 fawmed &1 99 difore-

TRENT 98 IcT F 30T AT STl 78T ST | STferdt W U 3R T R SR dd Ugd &1 @1 §1al 1 SaR) JaId G Heah TeT 81 ol | RGN BT I8 HIT
B ST IR Q- Ta Bt &R At 4§ et -t Hed Ul AT IR o ] Sas & PRl Fgl H HT T S| Ay AIed QSR & O SaRT SR T B
SR gfed df wefits 3R 1% &1 @ 1 da)| TR SR Wellw 7 Faa Huft gara Q1 $3 B fRiar dRd, afer 39 R afsra off 7 811

AW og ot fRrar Srar O §aR, W, Tellw SR TR &1 8, RN daR o St 8 Tl & gred et ok il & a7 off )t o aed ueR-forars
T 9gd a1 59 DI URRAT 3R $I3 Sie-sud & Uiy g 89 & SR 39 R WS IR QU T I Al Bl AoR H IgH A1 HAI Ad | RS F9RT G R & d F
e ATl 3fier | TRe @t ol TR R IR G SR e 31 Tesdl SR AEeER & IR & qUH 9P AR | i §ibR 99@] Pled Jgd, a9 o
et & o f5d Sfia & qof o 98 ol TeaeT § SoH-3muwt g @t e I, THeR T e, B Q¢! T 3R 391 &1 I UgH, qaaR g 31 &
3T °I$ W ARUC Gradl Ial ofdl oadl

3R &1 If Ty R T A1 3foer & Tad 9a1 9F W RSN &1 37 Agdyu geArsi & aRid 3R I AT A 8 ¥ TP RGN & STed-d UfagiRig fEl
AR SR 1 FT Pis RIE 7 411 gRomH I8 W1 3l % 3foer 3 oo § ot Rer &) WERh firem a1 I9& A1 [HR o &1 999 T 37|

&b FHA S{OAT 1 YHRT Sl G- Dl RSN Bl TEaDI& ST Bic-9 gad H 3 F 3fdid & 915 F A1 ah Rt I8 S| forg W g & aRex
TIEE &1 UI: Hga g1 [ a1 & ARGE @ TR o 8 IReg Sifa aRad | S-al @l 1 gial §, Sff TR off 3 A RieT 81 i 8, TReN & Riawd g8 &Y
& 3R dIc uga Sl

Q.No: 56 A= & & "m" &1 3 | -

A T H o
B T | UG
C T JMH

D TEd

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:
Ew: - f3U U T @) UgaR UE U U & 9ed IR Sk i faded S 9 difore-

RGN §S I § ST Akaes It § 71T ar| Jferdt R qun SR AT XA S 9 Ugd i a7 gl O SaR AT O R Wl B | TRETH BT IAE HT
B oI SIR S ua @t 3R 41 2Rt € et Beft-pt Ted Ugd Ward TR Idh B SagH & HRU del 4 2 €1 ol | AneR A5 e 39 O SRt SR @ o
SR gfed @ Tt o T 31 & T dae | 7e¥ SR W% 7 Fad ot Hard G 3 1 fal e, e 39 g afer off 7 811

I 515 St fora o df s, T, el SR TRY 1 €, RN SR BT Bt el Ut € grad cmeRur SR it @1 g # oft Skl $7 a8 UeR-Rrar
T 9ga A g D1 TR SR IS Sle-3ua & Ui A 89 & RO 99 IR WS R 3T T F G I AoR H Igdh A FHT Ad | RN S9GRT ST R J d J
g Tl 3fier & TR @t ARy S B SReg @ iR el 31 Tergdl iR e & IR & 9uH 9% AR & iR §i6) g9@) $ied 38d, 39 8
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2ot & eF® frd Siiay & o ot | 98 3= Heum H Su- 3! Ram &) @ S, Tider et Ugq, T Tl T iR 991 &) 9 UgH, deR R IS
ST B3 TR IRUC Sl Il ol &l

3R & O T R O A1 3foer W Wd 9| o Wt RN &1 37 Agayl geArs @ aii ok T 91 9 84 2 Fif RN F FIeute e fom §
ARl SR T BT B RIF A ATl IRomA 78 T4 g 6 sfoer @ ga § ff TR & et frem a1 38& 11 YHR o &1 99 - 371l

TP EA ST A GHRT ST G D RGN BT TEadien 395 Ole-4 gad U 3iae & 3fdid & §iel & 19 gaax Radd! X8 okt o R 3fie & areR
HES BT UR: Hgdl g1 [oh g-al H AGE G TR oI ¢ IReg olla aRad | $-al Al &1 gidl g, off TR U} 30T A foieT 818 W 8, TREN & Riudd ged &
TF 3R 9 ugdn Tl

Q.No: 57 "@iel-1 geu" TR B -

A SUHAT 3[TPR

B TS UBR

C 3N DR
D SfAiaT PR

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:
= A AU T TRIY BT UgR U U URAl & 9ed 3fd IaR dld [ddbed T 99 Bifog-

RGN 9 Il § S{uT ARk HIdt § 77 Sar| Iierdl TR IO SR AT S SR d Ugd gl 35T il 1 STaR Yard G HRp WST &1 ofiell | TREGR BT SdTg 4T
B ST 3R Q- ua @t &R At 2§ ot e -t Wel Ul AT IR Ua B SasH & BRI dgl Y Hi 81 Sl Ty Wied e &d O SaRY SR | 3
IR Sled o et IR TR 7 € A bR | HeR SR Walw 7 Fad HH Jard G HRA D fHal Hd, e sua e afer off 7 811

AW g Bt fRrar Srar af §aR, W, Gellw SR TR &1 &, TR 99R o Sl 71 Ul & grera aneun oiR il &t g 7 o it o asd ueR-frarg
T 9ga a0l g @1 TR SR $1S Sle-8ud & Ui 1l 89 & SR 99 R WS B U T W Tl $I ToR § IgdHx AH HHT Ad | RGN S9RT G R 4§ §
g irar| 3fier # TRer @t fady SR B e G SR el 351 Tergdl iR SipeR & I & quH I9F ARass | iR §ia) 99a) $led Jgd, a9 8
gt & e [5a Sian & aui W 98 ST SeaeT § Su-3us! Riamel 31 IRe $dl, TPaR Tl g, B agl T SR 991 g I UgH, qeaR g 31 &
3T €IS W ARUC Il T Sl &l

e &1 Of TR % o a1 3R & g 9 9 W o RN B 37 Agaqul gedrell $f aiid oIk 9 318 9 Bd & Fiifs RN & HIed-d Yagie Al §
AR IR T T IS M T o1l GRomH I8 T S f$ sfiem o oo™ § f TRe @ weRl fiem a1 39% T YBR S S T 7 Sl

TP A SO 919 GHRT STl G D1 RGN D! Teadiel IS Sic-9 gad J g & 3fdid & dIgf & A1 gad? R 38 kit o IR 3fier & Arex
TIEd BT U Fgd I8 [ giaT & aral 9T ARd Sid & TReg Siia arad & I=1 @il &1 giar 7, S IRepR ot 3o - RieT 3l o R, TRe™ & Rigea gea &l
& 3R 9 ugdn <l

Q.No: 58 '3fdia" &1 o & -

A LG
B R
C 3
D e

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

fAEw: i U U T Y UgeR UE U U & 9ed IR Sk a1 faded ST 9 ifore-

TREN 98 I & 30T Ak STt & 18T &ar Snferdt W 1on iR 4N S SR 9% Ugd &1 g7 Sl {6 SR WA O/ HRh Wl 81 ol | TREN Bl JeTg H
B ST SR El-diF gat &1 R 4t off ) It Hfi-mlt el Ul Ward R T B FaeH & SR Bl Yo Hi g S| ARex Wied aRf <d df SR SiR @3 B
IR gfed df Telits SR 1% &1 & T dav| 7RSSR Wellw 7 Fad o2t Yara I A 91 fHial o, afcs 39 g afer +ff 7 811

AW oiF et ferar Sar o SaR, W, Gellw SR TR &1 &, TReN 99 & St T Tl & grerd et SR il & o 7 o @t o ded ueR-forars
H 9gd a9 8 3T U= SR B Sfe-3ud & ufd A 81 & IRU 99 R TS FR 3T TH F AR Y ToR & Igax AW HHT Ad | RSN SART G % § i F
I o1 3fier & TReN @t fa¥y S <A1 e G SiR faweh 31 Tgsdl SR iR & X & qUH I9% AR | Wi §ibR 9a@] Pled Xgd, a9 g
e & s 5t St & auf 1R a8 oot e & oA-Sius! Rarsh 3t wg S, AieeR wieh uge, B Tl 3@ 3R 391 @ 9 ugA, daar e I %
ST OIS IR WRUC o al Fel ol ST

3R &1 o HRY R A A7 SfgRT H Xad 9H1 9 W H RN &1 37 Agayqul gersh $t arig SR T 18 7 Y8d ¥ [ RN & SreuHe tagig fom
ARG SR 1 T DIg M 7 ATl GO I8 T giar [ sfaer & oo § off Rer & narh firem a1 39 A1 Yo SH &1 95 7 S|
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a5 A T 19 GHRT Sl G Bt RGN B Agddie 39D Ble-4 gad T g & ofdid & 91 & -1 gadm: Ruaddt 38 ot | forg | ghie™ & 1R
HIRd PT U: Fod 61 (& gHaT H IRal QT 7R 9 ¢ UReg wilad arad o 351 Al &1 gl §, ol FRepx Hi oo 9 gt ©1 9 3, RN & Read gea 31

TF 3R e gt Tl

Q.No: 59 TReR UEd & ¥R Sita- drd H gt 82
A TEadiel Nl Il

B 3fier fowa ug arell F11

C S R & g o v ) e B) & B
D it Ugrs-ferarg # el 8d g

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 60
A
B
C
D

e & § PH-a1 TEaeh Rien ¥ 959 siftfe meayf 82
ST

faRre e o

ey FAdEE

THey FETH Td s

Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 61  What should come in place of the question mark (7) in the following question?
2466907 1694 of 450 + 14% of 650 =7

FrateRaa v 5 vHaT=s e () % W W T AT e
450 =1 16% + 650 =1 14% = ?

163

163

159

159
145

145
154

154

Correct Ans : A

Subject : Mathematics

Q.No: 62
2466979

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

What should come in place of the question mark (?) in the following question?

(733 + (17)3 =2

frafafad vy & uyares fo (?) & ®IF R &1 3T 91fge?

(733 + (17)3 =2

~Aanmn
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A IV4ISU

394930
395060

395060
393860

393860
393930

393930

Correct Ans : D

Subject : Mathematics

Q.No: 63 The sum of first 20 odd natural numbers is equal to:

2467164
T 20 v Tipfie Semel $1 anT o sRIeR gidT §:
210
A
210
300
B
300
400
C
400
420
D
420

Correct Ans : C

Subject : Mathematics

Q.No: 64 Ratio of present age of Golu and Manish is 4 : 5. After 6 years Golu will be 26 years old. Find present age of Manish.
2467306

i, SR TN BT WA 311G BT S 4 @ 5 T 6 U ST e, 26 I BT T S| HAY B GHM 31 T B1forg|

25 years
A

25 91

20 years
B

20 91t

31 years
C

31 9
D 24 years
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24 9|

Correct Ans : A

Subject : Mathematics

Q.No: 65 The difference of ages of two men is 16 years. If 6 years ago the older man is 9 times as old as the younger man, then what are
2467404 thejr present ages in years?

I STeHE BT I BT =R 16 99 31 AT 6 T UT ST SMGH, BT SMGH ¥ 9 T SH H1 7, T S add 9o Iul & T 32

16, 32
A
16, 32
8, 24
B
8, 24
15, 31
o
15, 31
18, 34
D
18, 34

Correct Ans : B

Subject : Mathematics

Q.No: 66 The perimeter of a rectangle is 40m. The length of the rectangle is 4m less than 5 times its breadth. Find the length of the rectangle.
2467589

TS 31T BT URATT 40 H. T 31T $1 @93 SUD! 1818 & 5 T 4 4 W HH T 3Md P d9T8 71 Do

31m
A

31 4.

4m
B

4 9.

32 m
C

321

16 m
D

16 .

Correct Ans : D

Subject : Mathematics

Q.No: 67 The circumferences of two circles are in ratio 11:13. Find the ratio of their areas.
2467610

& T Bt URM 11:13 F ST T §1 7% QTG BT U JIdT o |
A 13:11
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13:11

11:13
B

11:13

169:121
C

169:121

121:169
D

121:169

Correct Ans : D

Subject : Mathematics

Q.No: 68 ' The yglue of /200 + /900 + /1600 is:

2467887
\/W +\W +\m ﬁrﬂ:{%’{:
22
A
22
20
B
20
20
C
20
28
D
28

Correct Ans : B

Subject : Mathematics

Q.No: 69  Which of the following is not a perfect square?

2467921
fFrafed & & o1 o guf a7 81 82
4225
A
4225
1225
B
1225
2025
C
2025
D 2023
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2023

Correct Ans : D

Subject : Mathematics

Q.No: 70  Which of the following is a perfect square?

2467949
e 8 @ o9 e oof a1 82
442
A
442
548
B
548
215
C
215
144
D
144

Correct Ans : D

Subject : Mathematics

34'\:5%2722 The length and breadth of a square are increased by 40% and 30% respectively. The area of the

resulting rectangle exceeds the area of the square by:

U@ a1l @1 e 3R TISTS | HHRE: 40% 3R 30% B g B o1k &1 uRomdt emaa & gawa, F &

42%
A

42%

62%
B

62%

52%
Cc

52%

82%
D

82%

Correct Ans : D

Subject : Mathematics

Q.No: 72
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2468275 By solving (70— 9%) x (7% + 9%} we get:

(79— 9%) x (79 +99) Tl <l B UR gH 1adl 3

2
A

2

1
B

1

0
C

0

15
D

15

Correct Ans : C

Subject : Mathematics

Q.No: 73 As per NCF 2005, what is the meaning of nature of mathematics?

2468453
TRIUW 2005 F SIER, O St Ui &1 i o1 82
Mathematics reveals hidden patterns that helps us to understand the world around us.
A
TR T Ve Y TR el § S B8 GHR SN F g B Iuge § Heg aRaT gl
Many concepts are needed to be learnt sequentially in mathematics.
B
F3 HIYRONSH B TG § HidE ¥4 F Ya™ $i o 3
The basics of mathematics at secondary and higher secondary stages will help children make better use of their time at
school.
C
A AR S Wit aw & T Bt 49 §1d a= B T § U Y BT 6R SWH IR § Heg Hi
All of the given options
D

Rumu mbt fAww|

Correct Ans : A

Subject : Mathematics

Q.No: 74 The ratio of 540 months to 18 years is:
2469694

540 g ¥ 18 99 P UG &:
4:5
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3:5
C

3:5

5:3
D

5:3

Correct Ans : B

Subject : Mathematics

Q.No: 75 In a polynomial the exponents of the variable are always

2470020
T g9 & TR & Udi® g T §
integers
A
s
positive integers
B
YIS QUi
non-negative integers
C
IR-BUIS Uil
non - positive integers
D

IR-4THS QUi
Correct Ans : C

Subject : Mathematics

Q.No: 76 If ratio of any number and 63 is 2:9 then find unknown number.

2473324
gfe; forelt T SR 63 BT U 2:9 § o SR e J1d Hifg|
35
A
35
49
B
49
14
C
14
42
D
a2

Correct Ans : C

Subject : Mathematics
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Q.No: 77  Error of evolution is not:

2475413
HH-dH™ ot 31% %:
personal error

A T I
content error

B el e
variable error

c TR IR

D evaluation error
T e

Correct Ans : D

Subject : Mathematics

Q.No: 78  sSubstitutional of method was initially adopted by

2475526
fafY 1 UiaRATT URY F fhgd gRT U= -7 U1?
Palmer

A U

B Kingsley

C Macgully

D Dodson

Correct Ans : A

Subject : Mathematics

Q.No: 79 Which of the following is an innovation in mathematics teaching?

2475569
frofafaa & ¥ o= 7 Remor & te TdiHa g2
team teaching
A
i Rygror
micro teaching
B
g&A Rugror
programmed instruction
C
FURRE A=
D digital media

Correct Ans : D

Subject : Mathematics

Q.No: 80 Which of the following is not imparted by the teaching of mathematics?

2475645
e & & 1= Tora & e gRT UaH et fbar S 82
A Mental Ability
ARy &
B Reasoning
c Simplicity
IRl
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concentration

TSR

Correct Ans : C

Subject : Mathematics

Q.No: 81
2475881

RCEM approach is used to write the aim of
RCEM E¥I01 &1 TN fhass Iexg &1 fora & forg faman <iran 22
cognitive domain
WD Fe=T
conative domain
fraree Sexa
affective domain
HIEATES S

Psychomotor

THROT

Correct Ans : A

Subject : Mathematics

Q.No: 82
2481339

D

The hypothesis underlying team teaching is

& Raor 7 sfafHRa tReeam g 5 -
Teachers feel bore while working alone

R1erP 31t HH B Y IR HoYW I ©

Teachers are not competent

e wem 7§

The best teachers in schools are shared by more students
el # ved o Riere it Sl R wiE by o §

The single teacher cannot control the class
T (e e e S b T8 o FHar

Correct Ans : C

Subject : Mathematics

Q.No: 83
2481662

D

The formula to determine 1.Q was presented by:
1.Q Fefa &7 &1 97 fvad gR1 IR foan T ur?
Alfred Binet

3dhs fave

Stern

A
Gulford

B

Skinner

PR

Correct Ans : B

Subject : Mathematics

Q.No: 84 The two most common assessment methods are listed as follows for teachers’ reference:

2481888

A

B

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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TP 3T, Yot SMHe
Cumulative assessment, Formative Assessment
e SMpe, TS BT

Formative Assessment, evaluation Assessment
XIAIHD AHTh A, HedIh b

Correct Ans : A

D

Subject : Mathematics

Q.No: 85 When an object is sold at Rs.836, the loss is 5%. Find the cost price of the object.

2481906
forelt axg &1 %. 836 H T T 5 % @1 g1 Bl 81 I IXg 1 $H9 e J1d Biforg|
Rs.860
A
¥. 860
Rs.830
B
3. 830
Rs.880
C
¥. 880
5 Rs.920
3. 920

Correct Ans : C

Subject : Mathematics

Q.No: 86 Why is the parents-Teachers Association considered to be important ?

2482304

ATaT-FUeT- g 9 &1 Ayl Jdl 1 ol § ?

This helps the school function properly
A g 5 d Bl 3F J B H T Weg ol &

This helps in understanding students in a better way
B

I8 B! B! SeR T I TAFA H Heg AT 8

This helps in solving the students’ problem
¢ T BT 3 T B 5 PR H 7aQ PIA ©

This helps the teachers and parents coming closer
D

T Rt SR SHfrTas! o Ho9 o & A fad 8
Correct Ans : D

Subject : Mathematics

Q.No: 87 . is essential for the leadership quality.
2482318
venns ST B T[T P T STaTS B
Social maturity
A
oS aRgear
High intellectual competence
B
I difed &ma
Beauty
C
g‘ :
D Adequate money
ot o

Correct Ans : A
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Subject : Mathematics

Q.No: 88 “Accuracy with which test measures what is intends to measure”. This is which quality of a good achievement test?
2482374

"foRT FEDHAT & 1Y TKE0T HTIA &, S 98 HI0 ST 3161 39 ¢ | T8 TS ] Iuaisd TIef0r BT HH-31 0 87

A feasibility
reEdr
objectivity

B
e
reliability

c P

D %:%deity

Correct Ans : A

Subject : Mathematics

Q.No: 89  What are the features of summative evolution?

2482476
AT fadr @f fadwang o g1
classification and promotion
A T 3R TER
strength and classification
° e s
information and collection
¢ T 3R I
D Feedback and action.

Correct Ans : A

Subject : Mathematics

Q.No: 90 1In Class II, concept of even number and odd number was introduced by activity of pairing the given number with concrete objects.
2482669 Then teacher asked the students to check

1. whether the total number of crayons in their colour boxes is even in number or odd in number,
II. whether the number of pages in their Maths notebook is odd or even.

This task of finding even or odd number of crayons/pages is

&1 11 7, 71 T Bl o1 axgait & Ty shes o fafafy gRT 99 e oiR fawy T &t sayRon 9% 3t 18 2Rt R e A Bl A Wi A &
g et

1. 39% 1 % 0 § $aF B o Sen 99 o | ¢ a faww g §,

11. 1 3eb! 0T B g | ygt @ G favq a1 a9 B

/g8t B T 91 v SRS I A BT 98 BRI §

assessment at the end of learning

ST F ofd & gt
B assessment of learning
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ST T ST

assessment for learning

C
St % forg geaie

D assessment as learning
S & =0 & geaie

Correct Ans : C

Subject : Mathematics

Q.No: 91 As per NCF, integrated EVS means:

2469430
TG & SR, UHIHd Saiey &1 31 §:
Teaching concepts of EVS with reference of various concepts of science
A
o @t fafe srquronsit & douf # Sdiva 9t Ruemor sayRomg
teaching EVS through experiments
B
I & T A v ugE
teaching EVS as a combination of chapters of science, social studies and concepts related to real life incidents and
events
C
STy Y 39, I Sreae iR aRafd® Siiae Bt Terel SR SmaieH | Yaiftia SraeRunal & St & WieH & ¥u § ugHr
teaching concepts of EVS in an activity based approach
D

TR smenfka Iurm F yafarur rene @t SgyRonSi Sl ugHr

Correct Ans : C

Subject : Environmental Study

Q.No: 92 The process of degrading biodegradable solid waste by earthworms is called:

2469544
Y gRI1 Sia FieRofiy 319 Sl & smufed g1 &1 uishar sgard ¢
Biodegradation
A
Sa-Fiieo
Decomposition
B
Uy
Composting
C
wre o
Vermi-composting
D

aif-pre
Correct Ans : D

Subject : Environmental Study

Q.No: 93 Ranthambore national park is in:
2469551
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URHR TP I B:
Madhya Pradesh

A
et ge i
Rajasthan
B
TS B
West Bengal
C
ufEH sma
Uttar Pradesh
D

W e o

Correct Ans : B

Subject : Environmental Study

Q.No: 94 On the teaching of the following is priority given in Social science education at the elementary level?
2469732

TRAE TR R g fage Reor & o fawa i muftea 7 §

Economics
A

SRR

Environment
B

afaRor

Geography
C

et

History
D

R

Correct Ans : B

Subject : Environmental Study

Q.No: 95 Troposphere is mainly composed of-

2469768
AAPIR gerd: gafed 8-
02
A
it
N2
B
c CO:
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FlTSH 3HipuEs
0; and N>

Sifgpeiter 3R ArRgIeH
Correct Ans : D

Subject : Environmental Study

Q.No: 96 The food source of three quarters of the world, people is-

2469813
faa & diF <hurg T 1 WIeH &-
Wheat-Rice
A
Ag-amaa
Mize-Barley
B
HpT-SH
Oats-millet
C
STE-SITORT
Rice-maize
D

EICGESEET)
Correct Ans : A

Subject : Environmental Study

Q.No: 97 Raman is an EVS teacher, he adopted a strategy of classroom questioning, by this strategy he intends to
2470409

I U Sdiud e 8, IR Ba F Uy UB B U U OIS, 3 UM A ST 330al 8

arouse curiosity and promote thinking

A
T ST SR Wi $ Sgrar &
make learning serious
B
R B iR S
draw attention of class
C
e PT A P PRAT
maintain discipline in the class
D

FET H SR 1T TG
Correct Ans : A

Subject : Environmental Study

Q.No: 98 Environmental disease outbreak in Toyama, Japan in 1950s was due to?
2472043
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1950 & T® § SUM & <Al § TaRUiT I0T T YD [had HROT 41?

Lead
A
IS
Cadmium
B
Fsfem
Mercury
C
T
Zinc
D
Ll

Correct Ans : B

Subject : Environmental Study

Q.No: 99 Very fine particles of soil are called;

2472140
gt & offa gem T Feaa 3
Clay
A
fagt
Humus
B
gAY
Sand
C
et
Grave
D
D

Correct Ans : A

Subject : Environmental Study

Q.No: 100 Moisture in the air is known as

2472187
g1 H T B S FUH S @ 7
humidity

A
el
fog

B
DI
water

C
Tt
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D vapour

Ha
Correct Ans : D

Subject : Environmental Study

Q.No: 101 In which season nitrogen dioxide and methane react with chlorine monoxide and chlorine atoms forming chlorine sinks, preventing
2472331 mych ozone depletion,

g O & A13dion SEsiiags ofiR {13 Tk dHTsiaEs ok fRH wRAmst & ary ufafia oxd Tk Rie a9 §, S oiieia &t &t
Y AT S GHel B,

summer season

A

i % e

winter season
B

TR B

rainy season
C

R BT AT

spring season
D

T BT T
Correct Ans : A

Subject : Environmental Study

Q.No: 102 Which of the following characteristics is not included in the economic characteristics of the family?

2472602
FHcifed & § S yerl/ fadvar IRaR & onfife yerf # it =78t 82
Residence and marriage management
A
i @ik faar e
Determination of succession
B
SRINSR F1 FAeRor
Work division
C
4 fauTerH
Relationship of income and assets
D

3 3R Tl &1 Hae
Correct Ans : A

Subject : Environmental Study

Q.No: 103 Process of digestion and absorption become slow in
2472828
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URF 3R 3TRNYOT St Ufghar et 81 St 71

In Acidic medium

A

S e

In healthy person
B

awy afaa &

In basic medium
C

&g e #

In fatty person
D

Hie safd H

Correct Ans : A

Subject : Environmental Study

Q.No: 104 In which states does Nagarhole National Park located?

2473156
ARG AT e b wsdl # fRyd 82
Kerala
A
E2G|
Karnataka
B
FlcH
Kashmir
C
IR
Assam
D
Sy

Correct Ans : B

Subject : Environmental Study

Q.No: 105 As per Union Budget 2022, what is the allocation that has been made for the Department of Space?
2473946

Pl SuIe 2022 F SR, Sfafker faur & fere faan siden fovar mar g2

Rs. 12,700 crore

A
3. 12,700 TS
Rs. 10,800 crore

B
¥. 10,800 TS
Rs. 13,700 crore

C
3. 13,700 XIS
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D Rs. 15,800 crore

<. 15,800 FIS
Correct Ans : C

Subject : Environmental Study

Q.No: 106 Which space scientist was the Editor-in-Chief of 50 Years of Space”?

2473983
I 1 3faRel M "50 TR S T S U Jued 4?
M. Kurup
A
TH. U
APJ Abdul Kalam
B
TG 3Hsgd A
P.V. Manoranjan Rao
C
t.f. TR T
Praveen Sinha
D

Tiitor R

Correct Ans : C

Subject : Environmental Study

Q.No: 107 Which space scientist was responsible for the flight integration and launch operations of the first three PSLV flights?
2473988

Tedll i dieauedt IS & ISH THIHU 3R YA e $ g S a1 sialker Saie Rmier ur?

Nilamber Pant

A
iR da
K Sivan
B
& e
Prem chand Pandey
C
Ureie sy
Ramanujam Varatharaja Perumal
D

S aRERT T
Correct Ans : D

Subject : Environmental Study

Q.No: 108 By which space organization salt minerals on Mars were first discovered?
2474093

THIT T8 W e Ugd oy Sfaler §1s gR1 T @fell &1 @it &1 718 di?
A ISRO
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CNES

B
s,
NASA

C
AR
JAXA

D
Eicul

Correct Ans : C

Subject : Environmental Study

Q.No: 109 1In which year was NASA’s Curiosity Rover launched?

2474234
AR BT RRIRE AR 6 75w af uafia fear mr urz
1999
A
1999
2003
B
2003
2009
C
2009
2011
D
2011

Correct Ans : D

Subject : Environmental Study

Q.No: 110 The interaction of stars and galaxies with the invisible dark matter produced the present-day galaxies and is known as the -
2474245

3T BIb AR & 1Y FYIRY IR Sepr=rimsil o R fpar 3 aduF el o1 i fHar ok =3 g wu § &1 ofidr 872

Hubble Sequence of galaxies

A
STHTRATTIST BT 59 HTHH
Elliptical sequence of galaxies
B
STHTRAITIS BT USTHR HTHH
Spiral sequence of galaxies
C
STHTRATMST 1 Gt SgpH
D Irregular sequence of galaxies
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SIS @7 it HH
Correct Ans : A

Subject : Environmental Study

Q.No: 111 Soils with a lot of organic material are found in which of the following colors?

2475701
e § o 1 9 Preife el @t siftiepan arell gl urg il 87
Black
A
Caslf
Red
B
LS
Green
C
w1
Orange
D
AR

Correct Ans : A

Subject : Environmental Study

Q.No: 112 Coffee does not grow in which of the following states?

2475833
o) Fofifead § 3 frw g § 76 9 82
Kerala
A
R
Tamil Nadu
B
aftrerrg
Karnataka
C
FicH
Madhya Pradesh
D

T U=

Correct Ans : D

Subject : Environmental Study

Q.No: 113 Where was the first modern summer Olympics organized?
2476438

egdl 1Y% Heiereli= e Hel smaifora far mar ur

Greece

Pk
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B Great Britain

e faeq
Germany
C
i
France
D
gl

Correct Ans : A

Subject : Environmental Study

Q.No: 114 As the sources are available in many languages and scripts. Thus, making use of source method is
2477288

. Complete the sentence.

i T ps HreTal SR fifidl # Suas §) 39 YR, Id R &1 3@ ae @@

Too complex and technical

A
ogd oifed 3iR daiel §
Way easier than others
B
TR Y o § SEH §
not recommended
C
LERIECIC N
Different
D
ST

Correct Ans : A

Subject : Environmental Study

Q.No: 115 Teacher has assigned Mala a science project based on the chapter she taught in the class. Through this project she will be able to-
2477310

fRféreT 3 TIe P! Hefl H YTy 7T 3(eq & MR W U g aidiemr it 81 59 aikeieHT & A1 § 98 ued g oiat-

link theory with practice

A
ST F Iy Rigia &1 oiigr |
impress her teacher

B
IG! RifereT B yvifad oA |
pass her time

C
ST T oRA H
skip sports class

D

WY 7N BisT J

Correct Ans : A
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Subject : Environmental Study

Q.No: 116 What is the source book which keeps a record of all the endangered animals and plants?

2477813
ot v SFERE SR Wl 31 Rl T areht Wid g 3.1 82
Red Data Book
A
€ I gH
Green Data Book
B
M e gF
Endangered Species Data Book
C
IR Ui ST g
Forest Data Book
D

T ST §F
Correct Ans : A

Subject : Environmental Study

Q.No: 117 How many major tectonic plates are there on Earth?

2477922
Tl W fed T SRIMS e §?
6
A
6
2
B
2
4
o
4
7
D
7

Correct Ans : D

Subject : Environmental Study

Q.No: 118 How many types of hardness are there in water?
2478061

Sl H HERAT b YR B gl 82
2
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4
C

4

5
D

5

Correct Ans : A

Subject : Environmental Study

Q.No: 119 Which of the following is an incorrect statement about Unit Tests?
2478641
1.These tests are conducted taking the content of the whole syllabus.
2.1t is a type of formative assessment.

Choose the correct code -

TP URYU F IR § e o 9 oF 91 T $9F 87
1.3 G0 IX TG @ AU BT AHR S b & gl
2.98 T YR HI THIHG Jeliod gl

e PIS T -

Only 1

Had 1

Only 2

Fad 2
Both 1 and 2

aFi 1L 3R 2

Neither 1 nor 2

TALEARTE 2

Correct Ans : A

Subject : Environmental Study

Q.No: 120 Which of the following is an audio-visual TLM (Teaching Learning Material)?
2478688

frgfefad § 9 $F 09 yoo-v20 &.ua. T, (3 e Il 72

Slide - tape presentations

A
WSS - T wRgfapo
Telephonic conversations

B
THEH B S

C Duplicated written material
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sgfaftea fafea Tl

Globe

EGIE]

Correct Ans : A

Subject : Environmental Study

Q.No: 121 Ovum stage is -

2473550

fwa srawa gt 3-

From 2 weeks to 2 months
A

2 Fwig 9 2 718 9%

From Conception to 2 weeks
B

YA § 2 IWE 7

From 2 months to 6 months
C

2 A8 ¥ 6 T8 0

From 2 months to birth
D

6 T8 q 5 a5
Correct Ans : B

Subject : Child Developement

Q.No: 122 How many bones are found in the face?
2473609

IR T foha-t geerar urh St 32
10 Bones

10 gSSHi

12 Bones

12 gssm@r

18 Bones

18 gSemt

14 Bones

14 gssmt
Correct Ans : D

Subject : Child Developement

Q.No: 123 Rhesus factor - Rh factor was invented in the year
2473662
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I FRF - Rh RS DI @i a9 I 3 7153 AR

1950
A

1950

1940
B

1940

1960
Cc

1960

1965
D

1965

Correct Ans : B

Subject : Child Developement

Q.No: 124 Assessment is purposeful if

2474320

e IAYl Bl § SR

it serves as a feedback for the students as well as the teachers
A

g B & 9 Rl F o Brsa® &1 a1 Far @

it is done only once at the end of the year
B

3FR I8 $90 TP IR 91 & SRR F |

comparative evaluations are made to differentiate between the students achievements
C

BRI 1 ST B JUH DI b 1A1¢ JerTeTep HedichT B SIg

it induces fear and stress among the students
D

TE BHEI & 9 WY 3R T4 ST Y

Correct Ans : A

Subject : Child Developement

Q.No: 125 What is 1Q?

2474436
ST, (1Q) T el 52
MA
x 100
cA
A
MA
— %® 100
cA
B CA
— X100
MA
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cA
— X100
MA

MA

—— X 1000
ca

MA % 1000
cA

CA
MA

%1000

£ % 1000
MA

Correct Ans : A

Subject : Child Developement

Q.No: 126 The two things to be avoided during counselling sessions are
2475443

1. Moralizing

2. Compliment

3. Humour

4. Condemnation

Select the correct answer using the codes given below

RIS 9 S ERA O < =Sl 1 IReS 31 Aoy d ©
1. Afte FM

2. W

3. gUI-Hee

4. foTBR

I T TN Fs BT IT IR 5 e IR BT 991 Y

All of the given options

fow it fiwea
1,2and 3

1, 23R 3

land2

13R2

1and 4

13R 4

Correct Ans : D

Subject : Child Developement

Q.No: 127 The approach which has its roots in Gestalt psychology is popularly known as:
2475470
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fora =@ o1 g TRelee 7T & €, I Ao w9 F o1 9 S §

Holistic approach

A
ufex =PI
Stimulus-response-behavioristic approach
B
WeaTe-Ufafar-caagrRard! et
Dynamic and psychoanalytic approach
C
i SR AFARAS eI
Cognitive approach
D

iiafed e

Correct Ans : D

Subject : Child Developement

Q.No: 128 Language is important because it

2476118

T Aequf gt §, i

is unable to help in expressing a child’s thoughts
A

Tg 7 1 G Y Siftioad e F e @t €

develops the personality of the child
B

= & HfRIqa o1 Fmin st §

helps a child processing the information received through perception
C

T SRBI S YT T B & I G B § Teg el §

helps in making correct facial expressions in response to a stimulus
D

it SEUA F TR A TeR & Ta-UIT F e B | Heg Bl §

Correct Ans : B

Subject : Child Developement

Q.No: 129 The best argument for group intelligence test is that it

2476715

e 32 T ¥ Ry wed ot o 7% & B a8

Treats all the children equally
A

Tl S & T TP ST IGER B

Provides the teacher with diagnostic information
B

et B MG THBRT TS FRaT 7

Is less tension - producing than an individual test
C

W Id & - SR URI&(T BT e A
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Is the least expensive method to determine the IQ

1Q FuiRa $ o1 Te& FH Teifen b1 &

Correct Ans : D

Subject : Child Developement

Q.No: 130 A teacher has children in his class coming from different backgrounds. He observed that there are misconceptions about lifestyles

2476920 among some of them. What should the teacher do?

& e B wer H faft gyyfint § oM 9 o= §1 391 3 5 S A 79 F fiT ol el F IR F Tad yRom &1 Rieid Y 591 HAT BT

Ignore the matter

A
Understand the misconception from the children and address their concerns by explaining them the proper concept
with logic through a lesson plan
B
T Q AT YRUT B GHS SR UIS TioHT & HIead A 76 & WY IR S@uRun gugeR st Rl # ) 3%
Advice them not to discuss with their family members
C
IR 30 IRAR & el & Y = A BRA I Jarg §
Advice the school authority to take up the matter with their families
D

TR RO ) TS ¢ (& 39 THa 6 3[UA URaR & 1Y $ord

Correct Ans : B

Subject : Child Developement

Q.No: 131 According to the cognitive theory of motivation, which of the following is not correct?
2476951
1. We take things and knowledge as passive entities.

2. We do not respond to the situation or event, rather we respond to our perception we have for that event.

Choose the correct code.

DR & Gy Rigid & ouR, Rufif@d & § o1 ar 98 728 82
1. g9 il iR T &1 RSy Jwiel & 0 # 99 8
2. 89 Rl a1 "1 R ufafhar g1 F%d €, Sich g9 39 U & [0l TAR U 3T §RUN &1 9a19 &d 3

TG BIS T -
Only 1
A
Faa 1
Only 2
B
Fad 2
Both 1 and 2
C
Ff 1 @R 2
D Neither 1 nor 2
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Id1eRAE 2

Correct Ans : A

Subject : Child Developement

Q.No: 132 Learning is more effective in which of the following cases?

2477056
Fafafed & 3 g amd & siftemy of¥e yvrd 82
When the learner is intrinsically motivated
A
v Rigdf iR T & M ST §
When the learner is extrinsically motivated
B
S e s w0 & IR ST ¥
When the learner is expecting a reward.
C
v Rigdf 37 #1 Iufie B w1
When the learner is joyful
D

e Riamelf wew A &

Correct Ans : A

Subject : Child Developement

Q.No: 133 The baby measures between 32 and 34 inches at

2477448

= &1 T 32 § 34 59 F &9 59 AT §

12 months
A

12 Hg

15 months
B

15 HI§

18 months
C

18 HIg

24 months
D

24 1%

Correct Ans : D

Subject : Child Developement

Q.No: 134 From a social viewpoint, disrespect shown by a child towards which of the following can be called juvenile delinquency?
2477729

1.Norms

2.Superstitious beliefs

3.Traditions of the society

Choose the correct code out of the following -
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o =i ¥, Fafifad # 3 f5ae uld t 7= gR1 Q8 U ST &t PRI STRTY &gl S Waval 32
1.AMES

2. 3jufayrg

3.9H P IWIRY

frafifea 7 3 9@ $1s g -

Only 1 and 2

Faq 1 R 2
Only 2and 3

Fad 2 3R 3
Only 1 and 3

Ha 1 R 3

1,2and 3

1,2 3R 3
Correct Ans : C

Subject : Child Developement

Q.No: 135 Which of the following is/are the reason behind some children being left out of the educational opportunity?
2478076

i) The practice of segregation in education

ii) The inability to be in school in the school-going age

Choose the correct code

frafifaa ¥ 3 PH-T/8 SRU A $o = Bl e o awR Tel fHdar 2782
i) TRrem & gyepur B gl

i) ¥pd W B I K ¥pd A S UH

Q! BIS I

i) only

i) Pad

ii) only

i) Pad
Both i) and ii)

i) @R i) S

Neither i) nor ii)

ad@ i) AL i)
Correct Ans : C

Subject : Child Developement

Cannitiva dieahilityv ic niead tn ranlara tha nld tarm/ec
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CUYIHHILIVL UISUUIIILY 19 UJLU LU 1TUPIULL LW VI el 9

Q.No: 136

2478202 § vental retardation
ii.Mentally handicapped
Choose the correct code
TS & BT SUANT G AsaIaall F! geaq & fo S s g1
i. ARy faeaien
ii. W 3rrerdl
e ge I -
i) only

A
®qd i)
ii) only

B
Fad i)
Both i) and ii)

C
M) iR i)
Neither i) nor ii)

D

T i) T8 i)
Correct Ans : C

Subject : Child Developement

Q.No: 137 Which of the following learning difficulties can be attributed to the problems in language comprehension or accent of any particular

2478382 |3nguage?

faffad 5 9 o9 G SRaa 3 Slomal o 4 & gag a1 fhdt oy e & SR & wRwmsh & oy SrieR S8 off I 82

Dyslexia
A

UG

Dyspraxia
B

i

Dyscalculia
C

fSudagpfemr

Dysphasia
D

fsfRmr

Correct Ans : D

Subject : Child Developement

Q.No: 138 Which of the following is NOT true in the context of Mead’s “1” and “Me"” theory?
2478921
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Hig & "H" 3R " Ryl $ dal # Frafefed & 4 o a1 9 e 82

He perceived “"I” and “"Me"” as same phases

A

I H SR R P UF € WU F FU A AF

He emphasized on the collectiveness/wholeness of the two
B

BoIoT Glail ohl WIHGEHAT / JoTdT 9 AR fe=r

He refers “I"” to the ideas, understanding or attitudes we present to others.
C

g "B B I uRy, T a1 =RHI0 B Yeftid FRA & o H gERI B! WA B o

He refers “"Me"” in relation to self to others and gets affected by them.
D

T G S Hay § g Y Yafia Fed ¢ 3R I i B B

Correct Ans : A

Subject : Child Developement

Q.No: 139 Jean Piaget says that some degree of maturation interacting with experience is necessary for movement into the next stage of
2479187 cognitive development. This implies

ST TSt 31 Fe § & SaHers e & ofTd @Rul § Sficiad & R 3fyd & 91 9ia9id & $© 84 d% URuSdl Haad ol 39dT o §

Assimilation

A
R
Accommodation
B
TR
Biological maturity
C
e ufkgear
Physical experience
D

IRING SrFva
Correct Ans : C

Subject : Child Developement

Q.No: 140 Which of the following visions is not related to Rabindranath Tagore’s vision of progressive education?
2479561

e & A oF a1 ePeiu Fdgary R @t ynfadia fRiar & e § 96l 78 82

The best part of his approach is the easy and fun-loving attitude.

A
TP TRBIV BT T I<ST o S SR HAGR 34T 71
Modern academic setup should give input through eyes and ears.
B
SMYfT eI aw i il 3R S & Aead J TGS 1 AT
C Education should be a “joyous exercise of our inventive and constructive energies that help us to build up character.”
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fRren »guRY SnfaepRefe IR TP SHoiel B Uh AR 1Y ST =gy St g9 =fie Fmfor & Hee et 817

Education should be given with close proximity to nature.

e vl & fpe St =Ry

Correct Ans : B

Subject : Child Developement

Q.No: 141 The frequency distribution for the IQ scores tends to approximate a bell-shaped curve, called the -
2479845

T A ATl BT AT TP SR fAaRUT aep 1T SITY 1 I8 T U HeTPR aob & e il o 39 a5 1 gl Wil © -

Simple Curve

A
W TP
Closed Curve
B
ECxEd
Normal Curve
C
A dsp
Algebraic Curve
D

dioitg o

Correct Ans : C

Subject : Child Developement

Q.No: 142 Which of the following is a stage of development of Children?

2479902
fofifed § 9 oF 5= & fap 3 oEwa §2
Sensori-motor
A
HITHS SraRT
Postoperational
B
YT HishaTee SIaw
Operations
C
Tfrarees srawn
Informal operations
D

ST fehareres Sraedr
Correct Ans : A

Subject : Child Developement

Q.No: 143 Which language theory can confirm with behavioural changes observed with students from linguistic minorities?
2480237
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UINTE SfeTiede! & faaiial & ary Ufa sragR aRadHl &1 SH-a1 IS Rigid g 3R & 82
Sapir-Whorf theory

A

MR- Rigia

Social interactionist theory
B

e Sia:forarard Rigia

Language acquisition theory
C

T iR Rigia

Skinner's theory
D

o= o1 fygia

Correct Ans : A

Subject : Child Developement

Q.No: 144 Which of the following comes under a child's exo-system?

2480330
fafafed # 9 oF @ 9 & dfe: o & Siarfa ol g2
Parents
A
7e - foar
Teachers
B
Rigip
Friends
C
=
Parents' workplaces
D

- & s
Correct Ans : D

Subject : Child Developement

Q.No: 145 The approach which is known as the king of problem-solving is

2480384
TEW-GHIYE & Il & FY H S S Jren SUNH §-
Decision making
A
e
Perceptions
B
SqYROT
Incubation
C
Fadd
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Decomposition

3UYcq

Correct Ans : A

Subject : Child Developement

Q.No: 146 Development of feelings of guilt or labelling of good or bad occurs during two to seven years of age period. This is due to the
2480423

YA T BT Y F GRE RIS IT 3 T R & Ja& $I Wi $1 {96 a1 71 98 50 SR Gl 82

Ability to relate events or things with a broader view or context.

A
eISH A1 BRI $ IS RSB0 A1 T § Sig $ drvdar
Ability to relate the present situation to the past
B
oA R 3T et & Siiga @t aRaar
Ability to understand other’'s mind
C
TR F 7 P wwE A A
Ability to identify logical or sequential errors
D

b a1 it Ffedl Y ugar B 31 aRaar

Correct Ans : A

Subject : Child Developement

Q.No: 147 'Child belonging to weaker section' means.

2480650
‘THR 3 & qae’ § S -
A child belonging to such parents whose annual income is low
A
T st & s1ae § Rret aife sma 549 7
A child belonging to such parents who come under the disadvantaged group
B
A iferral & a1ed § ot dferd o f F o &
A child belonging to such parents who come under the category of below poverty line
C
TH SftTaDT & 1o § S T YT 3 R F A o §
A child belonging to such parents whose annual income is lower than the minimum limit specified by the appropriate
government
D

¥ iftruTaes! & o F S WER gRI Aoufa Traw Fiwr #t aifife oma &t Wim 3 12 & o § o 71

Correct Ans : B

Subject : Child Developement

Q.No: 148 A creative learner is one who
2480662
T XS e ag §
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is highly intelligent

A
afe gfemE §
Scores maximum marks in the class
B
e F AP 3P TR FRal §
Learn lengthiest answer in no time
C
3o g I H Yo oifed SR R arer
Good in lateral thinking and problem solving
D

sl A SIR IHET B 6 P | AT

Correct Ans : D

Subject : Child Developement

Q.No: 149 Which of the following is not the non-verbal subtest of Wechsler' scale of intelligence?

2480683
o d 3 oH o ToweR & ST Wa o R-NES gaeqe ol 87
Picture completion
A
e wof e
Block design
B
il &g
Digit span
C
e fafey
Object assembly
D

Jieviae el
Correct Ans : C

Subject : Child Developement

Q.No: 150 Internal psychological process that activates the person to fulfill his need by achieving the objective is known as
2480763

TR ARG UfhaT S S B SETT Bl U b I9D! AT Bl T FRA & [T ehd Bt §, 9 9 & T St §

Learning
A
iitcalf
Motivation
B
RO
reinforcement
C
FedtHRu
D None of the given options
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feu T Reedt § 1 T6F

Correct Ans : B

Subject : Child Developement
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